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Why College?

Fill in the blanks in the last two columns. The first one is done for you, using the following equation: $61,560 divided by $22,900 equals 2.68, or 268% higher

	
	Median salary
	Compared to Lemnique’s salary
	Difference
	Lemnique salary is…

	Median income, no HS diploma
	$22,900
	$84,460
	$61,560

	269% higher

	Median income, HS diploma, no college degree
	$30,000
	$84,460
	
______________
	 
      % higher


	Median income, Bachelor’s degree
	$46,900
	$84,460


	
______________
	
      % higher


	Median income, Master’s degree
	$59,600
	$84,460
	
______________

	
      % higher




Is college “worth it”? Why or why not?

[bookmark: _GoBack]


3

image2.png
‘@ WWW.IEXASGEARUP.COM




image1.png
@ www.TexasGeARUP.COM




